art. 9096 CODICE DENOMINAZIONE Quantita
1 102123 RULLO @ 450 F.200 NO PERNO §1SP. SI F. 1
2 090122 TAPPO CHIUSURA 1
3 090120 CAPPELLOTIO 1
4 101502 CONTENITORE MOLLA D.258 1
5 090106 MOTZO TENDIMOLLA IN PLASTICA 1
4 091529 DISCO PORT MOLLA D.250 FORO 35 1
7 100027 SEEGER 1
8 091100 MOLLA AVVOL (8.5 mt] SVIL 15MTF. @35 1
9 108124 BRACCETTO SERIE SNODATA 2
10 108125 FRONTALING ORIENTABILE 2
n 100016 TIRANTE AVVOLGITUBO D.8X95 2
12 000424 RULLINO D. 17X73%8.5 [
13 100018 DADO AUTOBLOCC. DIN 985 M 6 Hé 8
14
15 108128 TIRANTE D, BX255 M8X7.5 2
16 100026 VITE TE M10X20 2
17 108107/1 PIASTRINA MOZZO 19/1 2
18 100025 DADO MI10 AUTOBLOCCANTE 2
12 108107 BASE SOSTEGNO AVY, 9096 ERN 1
0 091506 CREM. IN PLASTICA H 25 FORC @140.5 !
21 080010 SALTARELLO FERMO AVVOLGITUBO !
2 101510 VITE SALTARELLO D.15K25 1
23 101511 DADO MIOBASSO SALTARELLO H 6 1
24 101512 MOLLA PER SALTARELLO AVVOLGITUBO 1
25 100019 VITE TCE UNI 5931 M 8 X 20 8
2 VITE TSEI M8X20 !
100124 NOTIOLNO 1
100020 VITE TSEI M6X12 4
00 9986 GIUNTO GIREVOLE 1
1
080423 RULLINO PLASTICA D.17x84 4
090426 RULLINO D. 17X15%8,5 8
091528 DISCO PORTAMOLLA D.250 FORO 67 1
1
00 9993 PERNO CON PIASTRINA U. 3/4" 1

GEESBEA8BYRBRBBLBERY

46

LAV.GENERALE

t 041

quotati 0.3

8 g 80 = 015

N A/mm?

Nome file

Denominazicne

Nr.pezzi

Tratt.superficiale

AVVOLGITUBO F.200

scheda

INDICE

NE.DEL P
ik

[ﬁ’.‘,]

Scala

SOSTITUISCE IL

01-05-—




